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Biology are there. Long Answer type

questions from Physics  carries

6 I, — Al ek

6 marks each, and from Chemistry
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and Blology carries 5 marks each.
Answer of one question each from
Physics, Chemistry and Biology is

compulsory.
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5@ qoieaT afad €

strictly prohibited.
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40x1=40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each question has
Jfour options out of which only one is correct. You have to mark your selected option on

the OMR sheet. 40 x 1 =40
1. Fed e e T T g ?

(A)  9EE B) FEHH

(© s (D) EHE

Which of the following is called chemical n_iesseriger ?

(A)  Digestive juice (B)  Stimulant

(C) Impulse (D). Hormone
5o i % Ieue e FE A A A E 2

T i B TR

€ & O T AW
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Which of the following is/arc the excretory substance(s) of the pl@t ?
(A)  Resin (B) Qum
(C) Tannin (D) Al of these
3. AHA ©E 3 FEl 5 g e § 2
(a) 5 (B 2
© 3 - D) 4
How many chambers are there in human heart ?
A) 5 (B 2

@ =3 D) 4

© FE9 (D) ... OEIsE U™
Which of the following is heterocriné gland ?
(A)  Pituitary gland (B) Liver

(C)  Testis (D)  Thyroid gland

@_.
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[212]
et T o HRH-TE T E
() A g | B W
© g uaE d D) FHE W
Exchange of gases occurs in plants through
(A) Lenticels (B) Stomata

(C)  Root surface (D)  All of these

Pt  # go9 T § 2

(a)  TfgAfe B) T
(€) TRIRIHA D) I

Which of the following is male hormone ?

(A)  Adrenaline (B) Estrogen

(C)  Testosterone (D)  Insulin
fopuae T orlt A &

@A) e | ® A

©) g™ (o) T @ T
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Fermhentation process is found in 10, wdieg goresd b
iA) Amacha (15 Yeast (Al e vig & fyq 0 riitrwm x:n__nr.p & fer
& Mwdra (D) None of these ' l () i i feey s oy oot 4 ad
v shedw @ The brain is respansible foe
w R @ TR (A)  palpitation of Heart (B balance of the body
Photosynthesss takes place ' 11y e s e & 9w 3 2

_ ; .
(A)  dunng the day (B)  during night } (A) &1FT 2 =N
(C)  during day and night both (D)  none of these () @iwds (D) TEET

bl R fem dm@at ? Trachea is the respirdtory organ of which animal ?

(A) 30 (B) 32 :‘ (A)  Hydra By  Starfish

© 54 (D) °
How many teeth does an adult prm‘p

e 2] T
(A) 30 o (B) 32 (A) A 12
*
\ ) [ERoiee

(C) Cockroach o Pia

12 R i S R s 3 2

. FYHA (D)
© 34 D) 28 [ 3
=1 1= 20032 Page G/48
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13.

What type of reaction is the digestion of food in th¢ body ?
(A)  Combination _ B) Reduction

(C)  Oxidation (D) | Displacement
¥ fawfen siewm oo ¢

(A)  FmEE @

B . o) e @
A f‘{u)’ matured ovary is called

P (B) Seed

IC})  Fruit (D)  None of these

TF B d -9 o g e € 2

(A) XY (B) XX

(C} XXX (D) XXY

Which sex chromosomes are found in.woman ?

A) XY (B) XX

(C) XXX (D) XXY

(212,

[ 811 ]-[20032-(r1720)|
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IS. Yt 6 3eme &
(A) e (B) T
(€ I (D] HHEH
- Example of saprophyte is
(A)  Amoeba : (B) Mushroom
(C) China' rose (D)  Cuscuta
16. € it & FEA-91 fafw 99 @ & 2
(A) (B) FE
(© urd (D) T F T
Which wall .01' guard cell is thick ?
(A)  Inner (B) Outer
(C) Lateral ‘ (D)  All of these
17.  aEHSe H AN A E
l,;n 20 % B 50%
©) 78 % (D) 03%
[s-11]-[20032-¢1/80 | Page 11/48
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[212)
The amount of nitrogen ‘in atmosphere is
(AL 20% (B) 50%
(C 78% (D) 03%
18 wpld d Y W I g wh g 2
(&) FEen B)
€ =g (D) AT
What is the main source of energy on earth in nature ?
(A) Coal (B)] Water
(C)  Air * (D)  Sunlight
19.  'The Origin of Species' 7TH% T e gt & 2
(A) RE A B) =3
(© e (D) FHHAES 7
Who has written the book 'The Origin of. Specics' ?
(A) Oparin (B) Darwin
(C)  Lamarck (D)  None of these
(S - (2009 roma] P 12/

-~
|212]
20. Wmmﬁwﬁmmmm%
iﬁ) 1 r e
sl ® 4
The number of oxygen atoms in one molecule of ozone is
Ay 1 B 2
(©) g D) 4
21, O YR WY 5 wE
(A)  HTEIRICEAT (B FARIERZ
(C) TEreRe (D) ¥ FE
The site of photosynthesis in plant is
(A) Mitochondria | . (B) Chloroplast
(C)  Leucoplast (D)  None of these
22, e e ¥
(A) R A (B) b T
() ude (D)  FF &
e Page 13/48
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[212]
Vermiform appendix is a part of
(A)  Alimentary canal (B)  Nervous system
(C)  Vascular system (D)  Reproductive system
23. wmmﬁ,?ﬂﬁmﬁwwm#ﬁw% ?
(A)  IEERT (B TERRI
(C) H9gZH (D) 3IAES
In a food chain, who is always at the third trophic level ?
(A} Herbivores (B)  Carnivores
(C) Decomposer (D) Producer
26, T G FH-4 G Sae 99 PR W E
(A) 9T, O97 7T 9HE (B) I, TS| AU IR
(C) Tl & B, % au 2 (D) &, AHE! T e
Which of the following groups contains only biodegradable items ?
(A) Grass, flower and leather (B)  Grass, wood and plastic
(C)  Fruit peels, éake and stecl (D)  Cake, wood and glass
(S |- [20035-r27em] ———
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25.

26.

7.

[212]

T W ¥ qr o & ?
(A) e (B). G G
© == | D) &3
Where is latex commonly found ?
(A) Peepal (B) Yellow oleander
(C) Banyan (D)  All of these
T T3 1 g Y wiaer o= e €
(A) 96 % - (B) 60%
© 2% | (D) T w0 T
The percentage of urea in human urine is
A 96% (B) 60%
Q 2% (D)  None of these
ot 1 el @ &
() efERE A & W
© i (D) el =ga d
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n [1219:]
The embryo develops in
(A)  Ovary () Vagina
(C)  Uterus (D)  Fallopian tube
28. fme-gfe < v fom o =1 wam e s & 2
(A) ST | faewe
(C) FEER (o) I
Which of the following lenses is used in near sightedness ?
(A) Concave (B) Bifocal
(C}]  Cylindrical (D)  Convex
29. ©9 @I &Hd 1 HEE €
(A B I
(€ 3 (D) @R
The unit of power of lens is
(A} joule (B) dioptre
(C)  erg (D)  watt
(ST - (2003217001 ——

30.

31.

32,

U FRenarz-ta o g
(A)  36x10° @ B
(C) 36x10° 9w D)

One kilowatt-hour is equivalent to

(A) 36 x 10° joule (B)
(€) 36 x10° joule (D)
T T AT AT e 8

EREC R B)
€ agH (D)

The speed of light is minimum in
(A} vacuum (B)
(C) air _ (D)
fi=y 1 P i 3 -G YT € & 2
() 3 @ : (B)

(c) o=t Gl (D)

[212]

136 % 10° A

3.6 x 10° joule

none of these

Bk

FAH

water

glass

- HAAH il
T @ T T

@ —| 20032-(71/80)

Page 17/48

Bihu rbou rdqu eStio n Puper'com nned with CamScanner


https://biharboardquestionpaper.com/bihar-board-class-10th-science-question-paper/

[212]

[212]
: : itive focal length ? 35.  Tiielig gom 3 = . ia .
Which of the following lenses has positw | U F WEds 92 F TR dE-E - >
> lens P

(A)  Convex lens (B] FPlano-convex .

(A)  Thar Fore @) T
(C) Concave lens (D)  None of these

(C) T 3901 F1 ZRF (D) T= wEd

33. T ¥ WENT w1 S A0 |
@ 3 - ®) fo The diameter of the circular boundary line of the reflecting surface of a
Sa < ’ spherical mirror is called

(€) FEEEEH (D) T
The unit of magnification of lens is ' (A) . Radius of curvature (B]  Principal axis
Ay m (B) mm (C)  Aperture of spherical mirror (D)  Principal focus
() unitiess I, 36, Forw < 6 g @ g = S A A A 2

(A) SHad A (B) R
a) e ©(B) A

N\ (© A gHaa (D) 31 dl HHeaw HEE I
(€ (D) _ZTE A& A
How does the sky appear 10 an astronaut ?. In which mirror, the image of a far object is always erect ?
(A)  Blue | (B)  Black (A]  Only concave (B)  Only convex
(C) Red (D)  None of these * N (D)  Either plane or convex
'_S-Il ]— m032-nuam ] Page 18/48
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37. AN SO A GHG QA AR e
(A) Ui (B) HUTHS
(C) = FoeTs @l W s (D) YA
The focal length of a concave mirror is
(A)  positive
(B) negative
(C) sometime negative sometime positive
(D)  zero
38. Tod T9O1 @ TN %] § o o w e ¥ 2
() I ' g
(© FF S D) AR
In which mirror is the smaller image of objeet always obtained ?
(A) Convex (B] Concave
(C)  Plane (D)  Nonc of these

39.

40.

: [212]
TR 1 et
A e A\ 4 '
G o wEEwh
The primary colour of light is
(A)  Blue (B) Green
= Red . (D)  All of these
aﬁ-ﬂﬁﬂﬁum,m#%qmﬁﬂﬁm% ?
(A)  SH F A B S &
(C) VN & WA (D) W & WA
The twinkling nfgtars exhibits which phenomenon of light ?
(A)  Refraction of light (B) Di-'?pt‘rsiu:l of light
(C)  Reflection of light (D)  Scattering of light

—I 20032-(71/80) ' Page 21/48
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41.

42,

(212]
ME‘WWWszovmmow%lmsﬁ110vvwﬁ!ﬂéﬁlﬁ%
&9 T R 39w A @

(A) 100w ® T5W
(C) sow ; D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the

power consumed will be
(A) 100 W (B) SR

€ sow D) 25W-
frefefad § 4 @7 fad o g YRR AR ¥ free g e &1 98 AU

FAATE ?

(A)  TEEE £ F 6 T AR ¥ e e §

(B) qﬁﬁuiﬁaﬁ&h?@ﬁm%mﬁ?ﬂ?

(C) AT & 1 &7 @, AE e ¢ e 39 ar | e @

(D) JEET A TSR, ST T T FE a A &

I S-11 ]- [ 20032-(71/80) | Pape 22/48
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44,

[212]

WhiCh of lhe '
following correctly describes the magnetie field near a long straight
current carrying wire P

(A)  The magnetic field consistsof straight lines perpendicular to the wire
- (B)  The magnetic field consists of straight lines parallel to the wire

(C) The magnetic field consists of radial lines originating from the wire

(D) _~The magnetic field consists of concentric circle centred on the wire

yiRiual F1 s 9EF &

(A) 3 (B) 3 WA ==X
(€ &= : (D) X ufa 3w

The SI unit of resistivity is

(A) ohm-metre (B) ohm per metre

(C) ohm (D) metre per chm
m@ﬁmm&vﬁwﬁﬁﬁéﬁmaﬁw-ﬁﬁrﬁﬁrﬁFﬁm
WA g ?

faera wmn

T | FHE R

w st ®

©) Ferariert (D)
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45.

46.

[212 ]

, . 3 . -
When more than one resistors arc connected in serics, which physical qu tity

remains the same ?

(A)  Resistance (B)  Electric current

(C)  Potential difference (D) None of these

FHAEIE S & i 4'7.
(A]  HEEIRIE TN @) ER I

(C) g § W FAl (D) WO el

Non-renewable energy is

(A)  Oceanic energy (B) Solar energy

C) Energy obtained from coal (D}  Wind energy A

T qEYl NEE w99 F 9l T 20 om a9 Heo = 198 em €)1 B

Ffe W % AU 4% 0 SIEER T 2

(B) . fwew =t ot

(A) 3T EE F A
(€) T iz #1 i (D) ¥add &F 1 wifd

I S-ll I-—l 2003217113011

| 212
A transparent spherical shell has outer radius 20 crvand inner radius 19 8 cm.

For radially incident rays it will act like a

(A)  Convex lens (B). . Prism

(C) Parallel slab (D) Concave lens

Fefl % Q1 AT B &
(A)  STEET T veifera (B)  TiER | waT A
(C) el a1 Riferan (D). T @ HE TE

Two non-renewable sources of energy are

(A) Biomass and petroleum (B) Gobar gas and biomass

(C)  Coaland petrolcum (D)  None of these

3T Sl G TE 8

(A) aﬁwﬁqa;w‘taéi

(B) ﬁg%mamqmuﬁmzaﬂﬂﬁmmaﬁ
(C) ﬁiwﬁwwuﬁmﬂmﬁ

o) ol @ il o @l
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[212]
The best source of energy is one
(A)  which is easily accessible
(B)  which works more per unit volume or per unit mass
(C)  which is easy to store and transport
(D)  which has all these qualities
49. AE
(Al CNG (B)
€ T (D)
Fuel is
(A} CNG 8)
€) Wood . (D)
50. SHEWH U F IRV &
(a)  ugiferm (B)
© () 3R (B3 @ | =
[ s-11 |-[20032-(71/60) | Page 26/48
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52.

Example of fossil fuel is/are

(A)  Petroleum (B)
(C) Both (A) and (B) (D)
i weiTes 1 acha e e 2

@A) I (B)
(C) &m’m (D)

Aqucous solution of ammonium chloride is

(A) acidic (B)

(C)  alkaline (D

Coal

None of these

9§ 57 T80

neutral

none of these

T F1 AVE GA C,H, &1 T FewdIh du B HEA &

A} 11 ' (B)

c 9 (D)

10

7

[212]

The malecular formula of cthane is CyHg. The number of covalent bonds fn itis

© 9 =)

10

7

[511] - [20032-uno]
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53.

54.

S5.

[212]
T fefrem A @ fgdt A A & o s @Fvaren <t W@ @
(A HR R | B =
€ IR % S| (D) @M F Ee
The chemical substance used for joining the fractured bones in surgery is
(A)  Washing soda (B] Gypsum
(C)  Plaster of Paris (D] - Baking soda
Pt ph T e e ) s s A 2
(A) 1. (B 2
© 3 D) 4

The solution of which pH value will be the most acidic ?

A 1 B 2

© 3 D) 4

TUTEA | SEA-HEA QR & i R Jeades 5 e 2
a) 1 \(B]" 2 |

(c) 3 (D) 4

I S-11 '—I 20032-(11/80) | Page 28/48
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57.

[212]

e
OW many covalent bonds are there between C - C _atoms in ethyne ?

€ 3 D) 4

- T it o urg &7 s ¥ 0

(A) Hg (B) Zn
(C) Cu (D) Al

Cuprite is an ore of which of the [ollowing metals ?

(A) Hg ‘ (B) Zn

(C)  Cu I (D) Al

T & TIY T 7T AT e Al U

(A) IR (B)

() A (D) A

The non-metal which remains in liquid state at room temperature is

(A) mercury (B)  copper

(C) bromine (D) nitrogen

| S-1I |—| 20032-(71/30) l Page 29/48
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212 A
m 1212 |I§ B
: ? ; ;
s8. fr=iea § sF-@ g o faw s YRR T § How many structural isomers are possible for pentane [CH,,) ?
; i culs
(A)  MgCly,, T Culs) B AgNOgqq T Cul)
- B A B 3
(C)  NaCl,, W& Culs) (D)  FeSO 4qq T A8lS)
& 4 D) 5
Which one of the following pairs shows single displacement reaction ? r .
(A)  MgCl, ., and Cu(s) (B)  AgNO g, and Cu(s) 6L SO H A o & 4
(C)  NaCl,, and Cu(s) (D)  FeSO 4, and Agls) o) e s ®) B —
59. 3TEd WX H EAl W G e 8 ' _
(C) Wi (D) TEizw @
n 7 B 9
Which acid is present in curd ?
€ 8 D) 10
A)  Tartaric acid B ic acid
The number of periods in Periodic Table is Al SR B Fessies
(A 7 (B 9 (C)  Lactic acid (D)  Acetic acid
o O 1 62, freifea # feg uig @1 feife 3 gaiex w@d € 2
60. T (C H,,) & @ da-aEEgdE dvd € 2
' (A) 9 (B) Wifead
(A 2 B 3
© ()  ®F
iy 4 D) 5
] S-11 l—l 2003217”.01 ’ Page 30/48 ‘ s-1l I_ | 20032'[?”'0! I Page 31/48
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63.

64.

[ 212]
. s mersed in kerosene g
o metals is keptim
Which one of the following
(B) Sodium
(A)  Mercury
(C)  Copper
- Y o W% ?

Al,C, F -39 § Pt A M

. g Ao
(A)  TH =
(C) To=nled (D)
Which of the following is obtained on hydrolysis of Al,C43?
(Al Ethane | (8. ‘Methians
©  Alkyne (D)  Alkene
= Ui i fad s o qom g, @
(A) Al (B Au
(C) Fe (D) Cu
A metal that dissolves only in aqua régid is
(A) Al (B  Aa .
€ Fe (D) cu

(1]~ 2003571709 Page 32/48

[212)

6. et 3.3 anue b s ¢

") g (B T

€  ErRH O FE

Which one of the following non-metals is a good conductor of electricity 2

(A) Graphite (B) Sulphur

(C)  Nitrogen (D)  Chlorine
66. U @ WA ¥

(A) W HC : (B) ¥ HNO,

(C) % H,S0, (D) T z‘; w13

The acid of battery is

| (A) Conc. HCI (B) Conc. HNO 3

(C)  Conc. H,80, (D)  None of these
67. el 1 W AT O 8

(A)  Ca(OH), ' (B)  CaCO,

() CaO ) (D) Ca(HCO,),

Lﬂl_ | 20032-(71/80) l Page 33/48
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68.

69.

The chemical formula of quicklime 1S

(A)  CalOH),
(C) CaO
AT T ¢
(A) NaCl + Kl

(C)  (A) ¥R (B)FHI

lodized salt i1s

(A)  NaCl+KI

(C) Bath [;:\] and (B)

T HE GRE w1 TR A €
(A) w%m:q Hehe

(C) FHieasd FNEE

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

The chemical name of Plaster of Paris is

|2121

CaCO ]

CaHCO4),

NaCl + KIO,4

7 Q@ FE T

NaCl + KIO 4

None of these

(A)  Calcium sulphate (B)  Calcium sulphate monohydrate
(C)  Calcium chloride (D} Calcium sulphate hemihydrate
_ R
| S-1l |- | 2003271780 | Page 34/18
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[212)
70 R s g

W (B) HeeTA

@ g (D) 7™ A &3 T

What type of indicator is clove oil ?

& Q5 (B) Synthetic
(€} Odorous (D)  None of these

71. W T (LPG) F WG A ¥

A | | =

€ WA - ) W
The major component of domestic gas (LPG) is
(A) Methane . (B) - Butane
(C) Ethane ' (D)  Propanc

Page 35/48
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73,

74.

T~ T~ Ne~
[212)
Coo T 3 37 frfenfa 3 e St @i € 2

(B) Fedrd
(D) Wﬁﬁﬂ

The shape of Cg, fullerene is like which of the following ?

(A) &l

(C) Er

(A)  Pear (B)  Football

(C) Dumb-bell (D) Tetrahedral

AR =1 Feead o feg 39§ Oion § e HEeE aFar € 2

(A) TFARTEH B) T
(C) T TR (D) o TR

Tincture of iodine is made by dissolving iodine in which of the -following liquids ?

(A) Chloroform (B) Ether

(C) Carbon tetrachloride (D) Ethyl aleohol
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Whatis the nature of fatty acid present in Dalda ?
(A)  Saturated . (B)  Unsaturated
< . Parltially saturated ‘ (D)  Supersaturated
75. WA T frameiter e 3
(A)  -OH (B) -COOH
© ,C=0 D) -CHO
The functional group of propancne is
(A}  -OH (B)] -COOH
‘g s€=0 (D) =-CHO
76. T &
@A) e ®)  AeTHE
© & - : | (D) UewTA :
Ethylene is
W ' (B) Olefin
(C) Alkane B alae
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Which of the following is not a fossil fuel ?
(A) Bio-gas (B)  Petroleum '
(C)  Natural gas (D) Coal
78. feedi 9 ﬁrnur 1 399 /T 9T ?
(W) e s B) Fﬂfﬂs
() Ta=tel semEa (D) T
What was lh? purpose of Tehri dam construction ?
(A) | Water supply (B) Land irrigation
(C)  Electricity production (D)  All of these
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‘h“'é'haﬁﬁ“-ﬂmmﬁsﬁﬂhmmaﬁﬁm%?
(A) Na P,
© Mg P

Which of the following elements cannot lose electron easily ?
(A) Na -(B) F

() Mg - - (D) Fe

ettt # o e et et w1 st T e ¥ 2
(A) | Si (B) Al

© P (D) Na

Which of the following elements has the maximum number of valence

electrons ?
(A)  si (B) Al

C) P (D) Na
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